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FORTNIGHTLY TEST SERIES – TEST- IRF 
 

1. Consider the following statements 
1. The north-south extent of India is 2933 Km  
2. The east-west extension is 3214 Km  
3. Sikkim is the smallest state (Area wise) 
4. Rajasthan is the largest state (Area wise) 
5. India’s central meridian is 82°30’ E longitude it passes through Mirzapur, Uttar 

Pradesh   
a. 3, 4, 5 are correct  b. 1, 2, 3 are incorrect  c. 1, 2, 3 are correct  d. 1, 3, 5 are correct   
gpd;tUk; $w;Wfis Ma;f 
1. ,e;jpah 2933 fp.kP tlf;F njw;F tiu gutpAs;sJ 
2. ,e;jpah 3214 fp.kP tiu fpof;F – Nkw;fhf gutpAs;sJ. 
3. rpf;fpk; ,e;jpahtpd; kpfr;rpwpa khepyk; (gug;gstpd;gb) 
4. uh[];jhd; ,e;jpahtpd; kpfg;ngupa khepyk; (gug;gstpd;gb) 
5. ,e;jpahtpd; kj;jpa jPu;f;fNuif vd;gJ 82°30’ fpof;F. ,J cj;jpugpuNjrj;jpy; 

kpu;rhG+u; topahf nry;fpwJ. 
a. 3>4>5 rhp  b. 1>2>3 jtW   c. 1>2>3 rhp  d. 1>3>5 rup 

 

2. Arrange the heights of the given peaks in an ascending order  
1. Kanchenjunga 2. Nanga Parbat   3. Mt. Everest    
4. Dhaulagiri  5. Godwin Austen   6. Nanda Devi  
a. 4, 1, 6, 2, 3, 5 b. 4, 6, 2, 1, 5, 3 c. 6, 2, 4, 1, 5, 3 d. 4, 2, 6, 1, 5, 3  
nfhLf;fg;gl;l rpfuq;fis mtw;wpd; cauj;jpd; mbg;gilapy; VWtupirapy; mikf;f. 
1. fQ;rd; [q;fh 2. eq;fh gu;ghl;  3. kTd;l; vtnu];l; 
4. njsyfpup  5. fhl;tpd; M];l;bd; 6. ee;jh Njtp 
a. 4, 1, 6, 2, 3, 5 b. 4, 6, 2, 1, 5, 3 c. 6, 2, 4, 1, 5, 3 d. 4, 2, 6, 1, 5, 3  

 

3. Match the following: 
A. Bhabar plain  1. New alluvial tracts 
B. Tarai Tract   2. Composed of gravels and Unassorted Sediments     
C. Khadar Plains  3. Older alluvial tracts 
D. Bhangar Plains  4. Zone of excessive dampness 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 2 4 3 1 
d. 3 4 1 2 
nghUj;Jf. 
A. ghgu; rkntsp  1. Gjpa tz;ly; kz; 
B. juha; kz;lyk;  2. ngUkzy;fs;> gyjug;gl;l gbTfshy; MdgFjp 
C. fhju; rkntsp  3. gioa tz;ly; kz; 
D. ghq;fu; rkntsp  4. mjpf <ug;gjk; nfhz;l gFjp 
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 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 2 4 3 1 
d. 3 4 1 2 

 
4. Consider the following statements 

1. In delta, uplands are called ‘Bils’ and the marshy areas are called ‘chars’. 
2. Pushkar lake near Jaipur is one of the Salt Lakes in India 
a. Both 1, 2 are correct  b. 1 only correct 
c. 2 only correct   d. Both 1, 2 are incorrect 
gpd;tUtUk; $w;Wfis Ma;f 
1. nly;lh gFjpfspy; cau;epyg;gFjp “gpy;];” vdTk; rJg;G epyg;gFjp “rhu;];” vdTk; 

miof;fg;gLk;. 
2. n[a;g;G+Uf;F mUfpYs;s G~;fu; Vup ,e;jpahtpd; cg;G Vupfspy; xd;W. 
a. 1>2 Mfpa ,uz;LNk rup  b. 1 kl;Lk; rup 
c. 2 kl;Lk; rup   d. 1> 2 Mfpa ,uz;LNk jtW 

 
5. The western part of the central Highland is _____. 

a. Bundelkhand b. Bagelkhand c. Chhota – Nagpur Plateau  d. Malwa Plateau 
kj;jpa cau;epyg;gFjpapd; Nkw;Fg; gFjp ____. 
a. gz;ly; fz;l; b. ghfy; fz;l; c. Nrhl;lh ehf;G+u; gPlG+kp d. khstg; gPlG+kp 

 
6. Consider the following statements 

I. The southern tip, the Indira Col is a part of Nicobar Island. 
II. Kavaratti is the administrative capital of Lakshadweep. 
III. Laccadive, Minicoy and Amindivi were collectively named as Lakshadweep in 

1973. 
IV. The uninhabited “Pitt Island” of Lakshadweep has a wildlife sanctuary. 
a. I, II, III, IV are correct  b. I, II, III are correct 
c. Only II, III are correct  d. Only I, II are correct 
gpd;tUk; $w;Wfis Ma;f 
I. ,e;jpahtpd; njd;Nfhb Kidahd ,e;jpuNfhy; epf;Nfhghu; jPtpy; mike;Js;sJ. 
II. ftuhl;b vd;gJ yl;rj;jPTfspd; eph;thf jiyefuk;. 
III. ,yl;rj;jPT> kpdpf;fha; kw;Wk; mkpdpj; jPT $l;lq;fs; 1973-Mk; Mz;L Kjy; 

,yl;rj;jPTfs; vd miof;fg;gLfpd;wJ. 
IV. ,yl;rj;jPtpYs;s kdpjh;fs; trpf;fhj gpl;jPT gFjpapy; tdtpyq;F ruzhyak; 

mike;Js;sJ. 
a. I, II, III, IV rup b. I, II, III rup  c. II, III kl;Lk; rup  d. I, II kl;Lk; rup 

 
7. Which of the following statements is/are correct? 

1. Mawsynram receives highest rainfall in the world  
2. Mawsynram is located in Mizoram  
3. Over all about 65% of Indian rainfall is received from southwest monsoon  
4. Andhra Pradesh, Tamilnadu, Kerala and South Interior Karnataka receive 35% of 

their annual rainfall from north east monsoon 
a. 1, 2, 3, 4 are correct  b. 1, 2, 4 are correct   c. 2, 3 are correct   d. 1, 4 are correct   
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gpd;tUk; $w;Wfspy; vit rupahdit? 
1. nksrpd;uhk; cyfpy; mjpf kiog;nghopT ngWk; gFjp. 
2. nksrpd;uhk; kpNrhuk; khepyj;jpy; mike;Js;sJ. 
3. ,e;jpahtpy; xl;Lnkhj;j kiog;nghopT 65% njd;Nkw;Fg; gUtf;fhw;W fhyj;jpy; 

fpilf;fpwJ. 
4. tlfpof;F gUtf;fhw;wpd; %yk; Me;jpugpuNjrk;> jkpo;ehL> Nfush kw;Wk; njd; 

fh;ehlfhtpd; cl;gFjpfs; Rkhh; 35 rjtPj Mz;L kiog;nghopit ngWfpd;wd. 
a. 1> 2> 3> 4 rup  b. 1> 2> 4 rup  c. 2> 3 rup  d. 1> 4 rup 

 

8. Match the following 
Biosphere Reserves  State 
A. Dibru Saikowa  1. Assam 
B. Dihang Dibang  2. Arunachal Pradesh 
C. Nokrek   3. Meghalaya 
D. Nanda Devi  4. Uttarakhand 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3 
d. 1 2 4 3 
nghUj;Jf: 
capu;f;Nfhs fhg;gfq;fs; khepyk; 
A. jpg;U nra;nfhth  1. mrhk; 
B. jpNfq; jpgq;  2. mUzhr;ry; gpuNjrk; 
C. ehf;nuf;   3. Nkfhyah 
D. ee;jh Njtp  4. cj;ufhz;l; 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3 
d. 1 2 4 3 

 

9. Match the following 
Name of Projects   River 
A. Nagarjunasagar   1. Mahanadi 
B. Indira Gandhi Canal Project 2. Kaveri 
C. Hirakud Project   3. Krishna 
D. Mettur Dam   4. Sutlej 
E. Sardar Sarovar   5. Narmada 
 A B C D E 
a. 1 4 3 2 5 
b. 4 3 1 2 5 
c. 3 4 1 2 5 
d. 1 2 3 4 5 
nghUj;Jf 
jpl;lq;fs;    MW 
A. ehfhu;[_d rhfu;   1. kfhejp 

B. ,e;jpuhfhe;jp fhy;tha;  2. fhtpup 
C. `puhFl; jpl;lk;   3. fpU~;zh 
D. Nkl;^u; miz   4. rl;ny[; 
E. ru;jhu; rNuhtu;   5. eu;kij 
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 A B C D E 
a. 1 4 3 2 5 
b. 4 3 1 2 5 
c. 3 4 1 2 5 
d. 1 2 3 4 5 

 
10. Match the following 

Revolution    Related Product 
A. Grey Revolution   1. Potato 
B. Silver Revolution   2. Fertilizers 
C. Evergreen Revolution  3.Overall Production of Agriculture 
D. Round Revolution  4. Egg and poultry production 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 1 2 4 
d. 2 4 3 1 
nghUj;Jf:- 
Gul;rpfs;    cw;gj;jpfs; 
A. rhk;gy; Gul;rp   1. cUisf; fpoq;F 
B. nts;spg;Gul;rp   2. cuq;fs; 
C. gRikg; Gul;rp   3. midj;J Ntshz; cw;gj;jp 
D. tl;lg; Gul;rp   4. Kl;il kw;Wk; Nfhopfs; 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 1 2 4 
d. 2 4 3 1 

 
11. Consider the following 

Assertion (A): All rivers originating from the Himalayas are perennial  
Reason (R): Himalayas receive much of their precipitation from south-western monsoon    
a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true and R is not the correct explanation of A 
c. A is true but R is false  
d. A is false but R is true    
gpd;tUtdtw;iw Ma;f 
$w;W (A) : ,kakiyapy; cUthFk; MWfs; midj;Jk; tw;whj [Ptejpfshfj; 
jpfo;fpd;wd. 
fhuzk; (R) : ,kakiy ngUk;ghyhd kiog; nghopit njd;Nkw;F gUtj;jpd; %yk; 
ngWfpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fky;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW Mdhy; (R) rup 

 
12. In Which of the following river divides the plateau region of India into two parts. 

a. Tapti  b. Godavari  c. Narmada  d. Mahanadi 
gpd;tUtdtw;Ws; ve;j MW ,e;jpahtpd; gPlG+kpg; gFjpia ,uz;lhfg; gpupf;fpwJ? 
a. jgjp  b. Nfhjhtup  c. eu;kij  d. k`hejp 
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13. Which is called as Vridha ganga?  
a. Kaveri   b. Krishna   c. Godavari   d. Mahanadi  
tpUj;jfq;fh vd;W miof;fg;gLk; ejp ____.  
a. fhtpup  b. fpU~;zh  c. Nfhjhtup  d. kfhejp 

 
14. Match the following: 

Rivers   Origin  
A. Krishna   1. Betul  
B. Kaveri   2. Mahabaleshwar 
C. Narmada   3. Kudagu  
D. Tapti  4. Amarkantak  
 A B C D 
a. 2 1 3 4 
b. 2 3 1 4 
c. 2 3 4 1 
d. 2 4 1 3 
nghUj;Jf: 
MWfs;  Njhd;Wkplk; 
A. fpU~;zh  1. ngl;Ly; 
B. fhtpup  2. kfhgNy~;tu; 
C. eu;kij  3. FlF 
D. jgjp  4. mku;fz;lf; 
 A B C D 
a. 2 1 3 4 
b. 2 3 1 4 
c. 2 3 4 1 
d. 2 4 1 3 

  
15. In Kepler’s laws of planetary motion, law of period is 

a. 
2

1
T

a
   b. 2T a   c. 2 3T a   d. 3 2T a  

Nfhs;fspd; ,af;fj;jpw;fhd nfg;sh; tpjpfspy; Rw;Wf;fhyq;fspd; tpjp> 

a. 
2

1
T

a
   b. 2T a   c. 2 3T a   d. 3 2T a  

 
16. Which of the following is not an application of Pascal’s law?  

a. Hydraulic lift   b. Automobile brake system 
c. Pressing heavy bundles  d. Oil in sea surface during storms 
gpd;tUtdtw;Ws; vJ gh];fy; tpjpapd; gad;ghL my;y? 
a. ePhpay; cau;j;jpfs;   
b. thfdq;fspy; cs;s jil mikg;G 
c. mOj;jg;gl;l nghjp   
d. fly; nfhe;jspg;gpd; NghJ> gug;gpy; vz;nza; nfhl;LtJ 

 
17. Which of the following statement is true? 

I. Force is a scalar quantity. 
II. Pushes and pulls are forms of forces 
a. I only  b. II only  c. Both I and II  d. Neither I nor II 
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rhpahd $w;Wfis fz;lwpf? 
I. tpir xU ];Nfyhh; msT MFk;. 
II. ,Oj;jy; kw;Wk; js;Sjy; Mfpait tpirapd; tbtq;fshFk;. 
a. I kl;Lk;  b. II kl;Lk;  c. ,uz;Lk; rhp  d. vJTkpy;iy 

 
18. The process of “Liquefaction of gases” can be achieved by  

a. Pressure on gas increased  b. Closeness of Molecules  
c. Temperature reduced   d. All the above 
“thAf;fs; ePh;kkhjy;” vt;thW epfo;j;jg;gLfpwJ. 
a. thA kPJ mjpf mOj;jk; nrYj;JtJ 
b. %yf;$Wfs; neUf;fkhf miktJ 
c. ntg;gepiy FiwtJ 
d. Nkw;$wpa midj;Jk; 

 
19. When dropped from a height in vacuum bodies of different size, shape and mass fall at 

the same rate and reach the ground at same time was proposed by ______ 
a. Sir Isaac Newton  b. Aristotle  c. Galileo  d. Albert Einstein      
“ntw;wplj;jpy; ntt;NtW epiw nfhz;l nghUs;fs; ahTk; xNu cauj;jpypUe;J 
tpOk;NghJ> mit xNuNeuj;jpy; jiuia milAk;” vd;wth;. 
a. rh; Irf; epa+l;ld;  b. mhp];lhl;by; c. fypypNah d. My;gh;l; Id;];Bd; 

 
20. The value of mass of earth  

a. 5.872x1024kg  b. 5.772x1024 kg c. 5.972x1024 kg d. 5.672x1024 kg     
Gtpapd; epiw kjpg;G  
a. 5.872x1024 fpfp  b. 5.772x1024 fpfp  c. 5.972x1024 fpfp d. 5.672x1024 fpfp 

 
21. Why the fielder in cricket pulls back his hands while catching the ball 

a. To decrease impulse by decreasing time  
b. To increase impulse by increasing time  
c. To decrease impulse by increasing time  
d. a and b  
fphpf;nfl; tpisahl;by; Ntfkhf tUk; ge;jpid gpbf;f tpisahl;LtPuh; ifapid 
gpd;Ndhf;fp ,Of;f fhuzk; 
a. Nkhjy; fhyj;ij Fiwj;J fzj;jhf;F tpirapid Fiwf;f  
b. Nkhjy; fhyj;ij mjpfhpj;J fzj;jhf;F tpiria mjpfhpf;f 

c. Nkhjy; fhyj;ij mjpfhpj;J fzj;jhf;F tpiriaf; Fiwf;f  
d. a and b 

 
22. Example for apparent weight  

I. Upward and downward movement of the lift 
II. Weightlessness in roller coaster  
III. Weightlessness of astronauts  
a. I, II  b. II, III  c. I, III  d. All of these 
Njhw;w vilf;F cjhuzk;  
I. kpd;J}f;fpapd; Nky;fPo; efh;T   II. CQ;ry; Ml;lk; 
III. cUz;NlhLk; njhlh;tz;b  
a. I, II  b. II, III  c. I, III  d. ,it midj;Jk; 
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23. Match the following   
Group number   Families  
A. 14   1. Noble gases  
B. 15    2. Nitrogen family  
C. 17   3. Carbon family 
D. 18   4. Halogens 
 A  B C D 
a. 2 3 4 1 
b. 3 2 4 1  
c. 3 2 1 4  
d. 2 3 1 4  
nghUj;Jf:  
njhFjp vz;  njhFjpfs;  
A. 14   1. ke;j thAf;fs;  
B. 15   2. iel;u[d; FLk;gk;  
C. 17   3. fhh;gd; FLk;gk;  
D. 18   4. `hy[d;fs;  
 A  B C D 
a. 2 3 4 1 
b. 3 2 4 1  
c. 3 2 1 4  
d. 2 3 1 4  

 
24. Match the following: 

Source    Acid present  
A. Apple    1. Hydrochloric acid   
B. Vinegar    2. Malic acid  
C. Ant    3. Acetic acid  
D. Stomach juice   4. Formic acid  

A B C D 
a. 2 3 4 1  
b. 2 4 3 1  
c. 3 2 1 4  
d. 4 2 3 1  
nghUj;Jf:  
%yq;fs;     mkpyq;fs;  
A. Mg;gps;     1. i`l;NuhFNshhpf; mkpyk;  
B. tpdpfh;    2. khypf; mkpyk;  
C. vWk;G     3. mrpl;bf; mkpyk;  
D. tapw;wpy; Ruf;Fk; mkpyk;  4. ghh;kpf; mkpyk;  
 A B C D 
a. 2 3 4 1  
b. 2 4 3 1  
c. 3 2 1 4  
d. 4 2 3 1  
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25. Consider the following statements 
All acids essentially contain one or more hydrogen's  
But all the hydrogen containing substances are not acids.  
a. Statement one is correct, statement two is wrong  
b. Statement one is wrong, statement two is correct 
c. Both the Statement are correct 
d. Both the Statement are wrong  
gpd;tUk; $w;Wfis Ma;f 
midj;J mkpyq;fSk;  xd;W my;yJ mjw;F Nkw;gl;l i`l;u[d; mZf;fisf; 
nfhz;lit.  
Mdhy; i`l;u[d; cs;s midj;Jg;nghUs;fSk; mkpyq;fs; my;y. 
a. $w;W 1 rhp> $w;W 2 jtW b. $w;W 1 jtW> $w;W 2 rhp 
c. ,uz;L $w;WfSk; rhp   d. ,uz;L $w;WfSk; jtW  

 
26. What does Arrhenius theory states?  

a. An acid is a substance which furnishes H+ or H3O+ ions in aqueous solution.  
b. They contain one or more replaceable hydrogen atoms.  
c. Both a and b 
d. Neither a nor b 
Mh;`Pdpa]; nfhs;if $WtJ vd;d?  
a. mkpyq;fs; ePhpy; fiuAk; NghJ H+ my;yJ H3O+ madpfis jUk;  
b. mkpyq;fs; xd;W my;yJ mjw;F Nkw;gl;l ,lg;ngah;r;rp nra;aj;jf;f i`l;u[d; 

mZf;fisf; nfhz;lit.  
c. a kw;Wk; b ,uz;Lk; rhp 
d. a kw;Wk; b ,uz;Lk; jtW  

 
27. Which statement is correct regarding acids and bases?  

I. Acids are sour taste. Bases are bitter taste.  
II. Acids are bitter taste. Bases are sour taste  
III. Acids turn red litmus blue. Bases turn blue litmus red 
IV. Acids turn blue litmus red. Bases turn red litmus blue  
a. II and III only   b. I and III only  
c. I and IV only  d. II and IV only  
mkpy> fhuq;fs; gw;wpa gpd;tUk; ve;j $w;Wfs; rhpahdit?  
I. mkpyq;fs;> Gspg;GRit cilait. fhuq;fs; frg;Gr;Rit cilait.  
II. mkpyq;fs; frg;Gr;Rit cilait. fhuq;fs; Gspg;Gr;Rit cilait.  
III. mkpyq;fs; rptg;G ypl;k];jhis ePykhf khw;Wk; fhuq;fs; ePyypl;kir rptg;ghf 

khw;Wk;.  
IV. mkpyq;fs; ePyypl;k];jhis rptg;ghf khw;Wk; fhuq;fs; rptg;G ypl;k];jhis 

ePykhf khw;Wk;  
a. II kw;Wk; III kl;Lk; b. I kw;Wk; III kl;Lk;  
c. I kw;Wk; IV kl;Lk;  d. II kw;Wk; IV kl;Lk;  

 
28. Match the following 

Radio Isotope    Treatment used for  
A. Iron – 59    1. Cancer  
B. Iodine – 131    2. Blood disorder  
C. Phosphorous – 32  3. Hyperthyroidism  
D. Cobalt – 60   4. Anaemia  
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 A B C D 
a. 3 4 1 2  
b. 3 4 2 1  
c. 4 3 2 1  
d. 4 3 1 2  
nghUj;Jf: 
fjphpaf;f INrhNlhg;   Fzg;gLj;Jk; Neha;fs;  
A. ,Uk;G – 59   1. Gw;WNeha;  
B. mNahbd; - 131    2. ,uj;jf; NfhshW  
C. gh];gu]; - 32   3. i`gh;ijuha;brk;  
D. Nfhghy;l; - 60   4. ,uj;j Nrhif Neha;  
 A B C D 
a. 3 4 1 2  
b. 3 4 2 1  
c. 4 3 2 1  
d. 4 3 1 2  

 
29. ______ Amalgam is used for dental filling 

a. Ag – sn  b. Ag – pb  c. Sn – pb  d. Ag – Au 
gw;Fopfis milf;fg; gad;gLtJ 
a. Ag – sn  b. Ag – pb  c. Sn – pb  d. Ag – Au 

 
30. If the pH value of the solution is 4.5 then value of POH 

a. 9.5   b. 5.5   c. 10.5   d. 5.4  
xU fiurypd; pH kjpg;G 4.5 vdpy; POH kjpg;G  
a. 9.5   b. 5.5   c. 10.5   d. 5.4  

 
31. Which of the following is/are correctly matched? 

i. Protozoa  - Paramoecium 
ii. Porifera  - Corals 
iii. Aschelminthes - Ascaris Lumbricoides 
iv. Annelida  - Liver Fluke 
a. i, iii  b. ii, iv  c. i, ii, iii  d. All the above 
gpd;tUtdtw;Ws; rupahfg; nghUe;jpait vit? 
i. GNuhl;NlhNrhth - ghukPrpak; 
ii. nghupnguh  - gtsq;fs; 
iii. cUisg;GOf;fs; - m];fhup]; Yk;gpupf;fha;l;l]; 
iv. mdyplh  - fy;yPuy;GO 
a. i, iii  b. ii, iv  c. i, ii, iii  d. Nkw;$wpa midj;Jk; 

 
32. Who is known as “Father of Modern Taxonomy’? 

a. Gaspard Bauhin   b. R.H. Whittaker 
c. Carolus Linnaeas   d. Charles Darwin 
etPd tifg;ghl;baypd; je;ij miof;fg;gLgtu;? 
a. fh];ghu;L gh`pd;   b. R.H. tpl;Nlf;fu; 
c. fNuhy]; ypd;Nda];  d. rhu;y]; lhu;tpd; 
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33. The chemical reaction occurs during photosynthesis is ___. 
a. Co2 is reduced and water is oxidized. 
b. Water is reduced and Co2 is oxidized 
c. both Co2 and water are oxidized 
d. both Co2 and water are produced. 
xspr;Nru;f;ifapd;NghJ eilngWtJ. 
a. Co2 ,Of;fg;gl;L O2 ntspNaw;wg;gLfpwJ. 
b. ePu; xLf;fkiljy; kw;Wk; Co2 Mf;]pfuzk; miljy; 
c. ePu; kw;Wk; Co2 ,uz;LNk Mf;]pfuzk; miljy;. 
d. Co2 kw;Wk; ePu; ,uz;LNk cw;gj;jp nra;ag;gLfpd;wd. 

 
34. Which of the following statements about cell theory is/are correct? 

i. H.J. Dutrochet was the first to give idea on cell theory 
ii. Basic features of cell theory were outlined by Matthiasschleiden and Theodor 

Schwann 
a. i, ii  b. i only  c. ii only  d. none of these 
gpd;tUk; $w;Wfspy; nry; Nfhl;ghL gw;wp rhpahdit vit? 
i. H.J. Ll;Nuhirl; vd;gth; nry; Nfhl;ghL vd;w fUj;ij Kjd;Kjypy; ntspapl;lhh;. 
ii. khj;jpNah];~pyPld; kw;Wk; jpNahlh; ~pthd; MfpNahh; nry;nfhs;ifapd; 

mbg;gilg; gz;Gfisf; $wpdhh;fs; 
a. i, ii  b. i kl;Lk;  c. ii kl;Lk;  d. VJkpy;iy 

 
35. Choose the correctly matched pairs 

i. Compound microscope   - Robert Brown 
ii. Dark Field Microscope  - Z. Sigmondy 
iii. Phase contrast Microscope  - Zernike 
iv. Electron Microscope  - Robert Hooke 
a. i, ii, iii  b. ii, iii, iv  c. ii, iii  d. i, ii, iii, iv 
rhpahf nghUe;jpa ,izfisj; Njh;e;njL 
i. $l;L Ez;Nzhf;fp    - uhgh;l; gpnusd; 
ii. ,Us; Gy Ez;Nzhf;fp  - Z. [pf;khz;b 
iii. fl;l NtWgLj;Jk; Ez;Nzhf;fp - n[h;idf; 
iv. kpd;dZ Ez;Nzhf;fp  - uhgh;l; `_f; 
a. i, ii, iii  b. ii, iii, iv  c. ii, iii   d. i, ii, iii, iv 

 
36. Which of the following is/are exception to cell theory? 

i. Bacteria ii. Viruses  iii. Protozoa  iv. Prions v. Viroids 
a. i, ii, iii  b. ii, iii, v  c. ii, iii, iv, v  d. ii, iv, v 
gpd;tUtdtw;Ws; nry; nfhs;ifapd; tpjptpyf;Ffs; vit? 
i. ghf;Bhpah  ii. itu];fs;  iii. GNuhl;NlhNrhthf;fs;  
iv. gphpahd;fs; v. ituha;Lfs; 
a. i, ii, iii  b. ii, iii, v  c. ii, iii, iv, v  d. ii, iv, v 

 
37. Choose the correctly matched pairs regarding ribosomes? 

i. Prokaryotes  - 50S + 30S 
ii. Mesokaryotes - 60S + 40S 
iii. Eukaryotes  - 60S + 40S 
a. i, ii, iii  b. i, ii  c. i, iii   d. ii, iii 
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gpd;tUtdtw;Ws; iuNghNrhk;fs; njhlh;ghf rhpahfg; nghUe;jpa ,izfs; vit? 
i. GNuhNfhpNahl;Lfs;  - 50S + 30S 
ii. kPNrhNfhpNahl;Lfs;  - 60S + 40S 
iii. a+NfhpNahl;Lfs;  - 60S + 40S 
a. i, ii, iii  b. i, ii  c. i, iii   d. ii, iii 

 
38. The best pH range of the soil for cultivation of crop plants is ________ 

a. 5.2 to 6.3  b. 5.3 to 6.5  c. 5.0 to 6.9  d. 5.5 to 6.8 
gaph; jhtuq;fspd; rhFgbf;f kpfr;rpwe;j pH kjpg;G __________ 
a. 5.2 ypUe;J 6.3 tiu b. 5.3 ypUe;J 6.5 tiu  
c. 5.0 ypUe;J 6.9 tiu d. 5.5 ypUe;J 6.8 tiu 

 
39. Which look states that it is wrong to sell Poompuhar’s products for a higher price? 

a. Pattinappalai   b. Silappadhikaaram 
c. Manimegalai   d. Maduraikkanchi 
G+k;Gfhu; efuj;J nghUl;fis $Ljyhd tpiyf;F tpw;gJ jtwhd nray; vd;W ve;E}y; 
$WfpwJ? 
a. gl;bdg;ghiy   b. rpyg;gjpfhuk;  

c. kzpNkfiy   d. kJiuf;fhQ;rp 
 
40. Which book states the detailed account of the flourishing trade during the reign of 

Karikaalan? 
a. Manimegalai   b. Pattinappaalai 
c. Maduraikkaanji   d. Silappadhikaaram 
fupfhydpd; Ml;rpapd;NghJ mq;F eilngw;w tzpf eltbf;iffs; gw;wpa tpupthd 
nra;;jpfis toq;fpa E}y;? 
a. kzpNkfiy   b. gl;bdg;ghiy  
c. kJiuf;fhQ;rp   d. rpyg;gjpfhuk; 

 
41. The land which formed the important source of income to the exchequer during 

Sangam reign was called ____ 
a. Kappam  b. Irai   c. Sungavari  d. Kappam 
rq;ffhy Ml;rpaikg;gpy; tUthapd; Kf;fpa Mjhukhd epytup vt;thW miof;fg;gl;lJ? 
a. fg;gk;  b. ,iw  c. Rq;ftup  d. fg;gk; 

 
42. The epic which represents Buddhism in Tamil Nadu. 

a. Manimegalai b. Silapathikaram c. Kundalakesi d. Valaiyapathi 
jkpo; ngsj;jj;ij gpujpepjpj;Jtg;gLj;Jk; fhg;gpak;  
a. kzpNkfiy b. rpyg;gjpfhuk; c. Fz;lyNfrp d. tisahgjp 

 
43. Consider the following statements 

1. Greeks, Roman, West Asian people and Westerners are referred to as “Yavanars” 
2. The word “Yavanar” is derived from Ayonia region of Greece. 
a. 1 is correct, 2 is wrong  b. 1 and 2 are correct 
c. 1 and 2 are wrong   d. 1 is wrong 2 is correct 
gpd;tUk; $w;Wfis Ma;f 
1. fpNuf;f> Nuhkhdpa> Nkw;F Mrpa kf;fs; cs;spl;l Nkw;fj;jpau;fs; atdu;fs; vd;W 

miof;fg;gLfpd;wdu;. 
2. atdu; vd;Dk; nrhy; fpNuf;fg; gFjpahd mNahdpahtpy; ,Ue;J te;jJ. 
a. 1 rup 2 jtW  b. $w;W 1 kw;Wk; 2 rup 
c. 1 kw;Wk; 2 jtW  d. $w;W 1 jtW 2 rup 
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44. Consider the following 
1. Kodumanal is in Erode in Tamilnadu. It is believed that this is Kodumanam, 

referred to in the Sangam literature Padittruppaththu. 
2. The great Stone Age elders in iron urns, valuable stones, art work from conch have 

been recovered from this region. 
3. More than 300 pottery inscriptions in Tamil Brahmi script have been found in this 

town 
a. 1 and 2 are wrong, 3 is correct  b. 1 and 3 are wrong, 2 is correct 
c. 1 and 3 are correct, 3 is wrong  d. 1, 2 and 3 are correct 
gpd;tUk; $w;Wfis Ma;f 
1. nfhLkzy; jkpo;ehl;by; <NuhLf;F mUfpy; cs;sJ.  rq;f ,yf;fpakhd 

gjpw;Wg;gj;jpy; Fwpg;gplg;gLk; nfhLkzk;jhd; ,t;T+u; vdf; fUjg;gLfpwJ. 
2. ngUq;fw;fhy KJkf;fs; jhopfs; ,Uk;G> kzpf;fw;fs;> rq;F Ntiyg;ghLfs; Fwpj;j 

rhd;WfSk; ,q;Nf fpilj;Js;sd. 
3. jkpo; gpuhkp vOj;Jf;fs; nfhz;l 300f;Fk; Nkw;gl;l kl;fyg; nghwpg;Gfs; ,e;j Cupy; 

fpilj;Js;sd. 
a. $w;W 1 kw;Wk; 2 jtW> 3 rup  b. $w;W 1 kw;Wk; 3 jtW> 2 rup  
c. $w;W 1 kw;Wk; 3 rup> 2 jtW  d. $w;W 1>2 kw;Wk; 3 rup  

 
45. Which book states that Roman ships came with gold and other metal coins to Musiri 

harbour and took back spices. 
a. Pattinappaalai b. Maduraikkanchi  c. Aganaanooru d. Puranaanooru 
ed;F tbtikf;fg;gl;l atdu;fspd; fg;gy; jq;fk;> gpw cNyhf fhRfSld; Krpwp 
JiwKfj;jpw;F te;J kpsif Vw;wpr; nrd;wjhf $Wk; E}y; 
a. gl;bdg;ghiy b. kJiuf;fhQ;rp  c. mfehD}W  d. GwehD}W 

 
46. Who is the poet who wrote a lengthy poem on Kaveripoompattinam? 

a. Uruththirangkannanaar  b. Maangkudi Marudanaar 
c. Ilangovadigal   d. Seeththalaichchaaththanaar 
fhtpupg;G+k;gl;bdk; Fwpj;Jg; neba ghliy ,aw;wpAs;stu; ahu; 
a. cUj;jpuq;fz;zdhu;  b. khq;Fb kUjdhu; 
c. ,sq;Nfhtbfs;   d. rPj;jiyr;rhj;jdhu; 

 
47. Which book describes the trade that flourished in Kavirippoompattinam? 

a. Manimegalai   b. Silappathikaaram 
c. Seevagasinthaamani  d. Valaiyapathi 
fhtpupg;G+k;gl;bdj;jpy; ele;j tzpfk; Fwpj;J Fwpg;gpLk; E}y; 
a. kzpNkfiy   b. rpyg;gjpfhuk; 
c. rPtfrpe;jhkzp   d. tisahgjp 

 
48. The book that describes the eight Chera kings their kingdom and their achievements is 

_____ 
a. Puranaanooru  b. Aganaanooru c. Pattinappaalai d. Pathitruppaththu 
vl;L Nru muru;fs; Fwpj;Jk; mtu;fs; Mz;l gFjpfs; mtu;fsJ rhjidfs; Fwpj;Jk; 
Fwpg;gpLk; E}y; 
a. GwehD}W   b. mfehD}W  c. gl;bdg;ghiy d. gjpw;Wg;gj;J 

 
49. “Vadavengadam Thenkumari Aayidai Kurum Nallulagam” These lines are mentioned 

in which Tamil work? 
a. Thirukkural  b. Tholkappium c. Silapathikaram  d. Manimegalai 
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“tlNtq;flk; njd;Fkhp Mapilj; jkpo; $Wk; ey;Yyfk;” ,e;j thpfs; ve;j jkpo; 
E}ypy; Fwpg;gplg;gl;Ls;sd? 
a. jpUf;Fws;  b. njhy;fhg;gpak; c. rpyg;gjpfhuk; d. kzpNkfiy 

 
50. “Melting, Melting Heart is Melting whenever think of Valluvar’s majestic Kural” who 

said this? 
a. Maangudi Marudhanar  b. Nachellaiyar c. Kavimani  d. Avvaiyar 
cs;SNjh Ws;SNjh Ws;sk; cUf;FNk  
ts;Sth; tha;nkhop khz;G vd;wth; 
a. khq;FbkUjdhh;  b. er;nrs;isahh;  c. ftpkzp  d. mt;itahh; 

 
51. Who translated Thirukural in the Sinhalese Language? 

a. A.L. Pervick   b. Madam Misigami 
c. Arumuga Naavalar  d. Iyotheethasa Pandidhar 
jpUf;Fwis rpq;fs nkhopapy; nkhopngah;j;jth; 
a. v.vy;.ngh;tpf;   b. kprpfhkp mk;ikahh;  
c. MWKfehtyh;   d. mNahj;jpjhr gz;bjh; 

 
52. Avvaiyar in her ‘Athichoodi’ says don’t give up your mind to act and achieve. Choose 

the Thirukural connected with this thoughtful line. 
a. Though food of immortality should crown the board, 

Feasting alone, the guests without unfed, is thing abhorred 
 
b. The wealth of mind man owns a real worth imparts, 

Material wealth man owns endures not, utterly departs. 
 
c. If speak you will, speak words that fruit afford, 

If speak you will, speak never fruitless word. 
 
d. With rising flood the rising lotus flower its stem unwinds; 

The dignity of men is measured by their minds. 
“Cf;fkJ iftpNly;” vd;gJ xsitahhpd; Mj;jp#b. ,t;thpNahL njhlh;Gila 
jpUf;Fwisj; Njh;e;njLf;f 
 
a. tpUe;J Gwj;jjhj; jhZz;ly; rhth 

kUe;njdpDk; Ntz;lhw;ghw; md;W 
 
b. cs;sk; cilik cilik nghUSlik 

epy;yhJ ePq;fp tpLk; 
 
c. nrhy;Yf nrhy;ypy; gaDila nrhy;yw;f 

nrhy;ypy; gad;,yhr; nrhy; 
 

d. nts;sj;J mida kyh;ePl;lk; khe;jh;f;F 
cs;sj;J midaJ cah;T 

 
53. ‘Veracity’ means 

a. speaking truthful words  b. speaking words not harming others 
c. speaking boldly   d. speaking sweetly 
tha;ik vdg;gLtJ _____ 
a. cz;ikia NgRjy;  b. jPq;Fjuhj nrhw;fisg; NgRjy; 
c. ijhpakhf NgRjy  d. ,dpikahf NgRjy; 
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54. Match the following 
A. The Method of learning   1. Action 
B. The eyes to the living being  2. Education 
C. The best Wealth    3. Learning without any error 
D. Think bold and decide to act  4. Maths and language 
 A B C D 
a. 3 4 1 2 
b. 3 4 2 1 
c. 1 3 2 4 
d. 1 2 3 4 
nghUj;Jf 
A. fw;Fk; Kiw    1. nray; 
B. caph;f;Ff; fz;fs;   2. fy;tp 
C. tpOr;nry;tk;    3. gpioapy;yhky; fw;wy; 
D. vz;zpj; Jzpf    4. vz;Zk; vOj;Jk; 
 A B C D 
a. 3 4 1 2 
b. 3 4 2 1 
c. 1 3 2 4 
d. 1 2 3 4 

 
55. Find out the Thirukural with the figures of speech simile employed in it 

a. All men that live are one in circumstances of birth; 
Diversities of works give each his special worth. 

b. By one thing done you reach a second work's accomplishment; 
So furious elephant to snare its fellow brute is sent. 

c. What you have learned, in penetrating words speak out before 
The learn'd; but learn what men more learn'd can teach you more. 

d. The wealth of mind man owns a real worth imparts, 
Material wealth man owns endures not, utterly departs. 

gpd;tUk; Fwl;ghf;fspy; ctikazp gapd;W tUk; Fwisj; Njh;e;njLj;J vOJf 
a. gpwg;nghf;Fk; vy;yh caph;f;Fk; rpwg;nght;th 

nra;njhopy; Ntw;Wik ahd; 
b. tpidahd; tpidahf;fpf; Nfhly; jidfTs; 

ahidahy; ahidahj; jw;W 
c. fw;whh;Kd; fw;w nryr;nrhy;ypj; jhk;fw;w 

kpf;fhUs; kpf;f nfhsy; 
d. cs;sk; cilik cilik nghUSilik 

epy;yhJ ePq;fp tpLk; 
 
56. Persons equal to useless barren waste land are 

a. Those without strength  b. Those who have not learned 
c. Those without character  d. Those without love 
gadpy;yhj fsh;epyj;jpw;F xg;ghdth; _______ 
a. typikaw;wth;   b. fy;yhjth; 
c. xOf;fkw;wth;   d. md;gpy;yhjth; 

 
57. When one’s mind is elated whom he have to remember? 

a. Learned people    b. Poor people 
c. those who ruin by their negligence d. rich people 
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kfpo;r;rpapd; ike;JWk; Ngho;J _______ epid 
a. rhd;Nwhiu     b. twpNahiu 
c. kwjpahy; nfl;lth;fis   d. nry;te;jh;fis 

 
58. Who shares domestic life, by household virtues _______ 

a. Graced with Gods in heaven  b. Glorified as gentle man 
c. Glorified as learned man   d. Glorified as king 
itaj;Js; tho;thq;F tho;gtd;  ________ 
a. nja;tj;Js; itf;fg;gLk;  b. rhd;Nwhh; vdg;Nghw;wg;gLth; 
c. fw;Nwhh; vdg;Nghw;wg;gLth;  d. kd;dh; vdg;Nghw;wg;gLth; 

 
59. The broad division of Thirukural that speaks glory of Ahavazhvu 

a. Arathu Paal b. Porut Paal  c. Kaamathu Paal  d. All of these 
mftho;tpd; Nkd;ikiaf; $Wk; gFjp 
a. mwj;Jg;ghy; b. nghUl;ghy;  c. fhkj;Jg;ghy;  d. ,k;%d;Wk; 

 
60. The section that speaks of the glory of the life of the individual 

a. Arathu Paal b. Porut Paal  c. Kaamathu Paal d. All of these 
jdpkdpj tho;tpd; Nkd;ikiaf; $Wk; gFjp 
a. mwj;Jg;ghy; b. nghUl;ghy;  c. fhkj;Jg;ghy; d. ,k;%d;Wk; 

 
61. Which freedom fighter preferred Manakkudavar Commentary for Thirukural? 

a. V.O.C  b. Bharathi  c. Rajaji  d. V.V.S. Iyer 
jpUf;FwSf;fhd kzf;Flth; ciuia tpUk;gpa Rje;jpu Nghuhl;l tPuh; ahh;? 
a. t.c.rp  b. ghujpahh;  c. uh[h[p  d. t.Nt.R. Iah; 

 
62. The place where Gnanaprakasam published Thirukural was 

a. Madurai  b. Tranqubar  c. Thanjavur  d. Puducherry 
Qhdgpufhrk; jpUf;Fwis Kjd; Kjypy; gjpg;gpl;L ntspapl;l ,lk; 
a. kJiu  b. juq;fk;ghb  c. jQ;rht+h;  d. GJr;Nrhp 

 
63. Thirukural is a ________ book 

a. Vazhinool  b. Mudhalnool c. Virinool  d. Thazhuval nool 
jpUf;Fws; xU ________ E}y; 
a. topE}y;  b. Kjy;E}y;  c. tphpE}y;  d. jOty;E}y; 

 
64. To whom Thiruvalluvar calls as uneducated though educated? 

a. Those who are not accommodating with the world 
b. Those who are not having knowledge 
c. Those who are not cultured 
d. Those who are not having money 
gyfw;Wk; fy;yhh; mwptpyhjhh; vd ts;Sth; ahiu $Wfpwhh;? 
a. cyfj;NjhL xl;b xOfhh; b. mwptpy;yhjhh; 
c. gz;gpy;yhjhh;   d. nghUs; ,y;yhjhh; 

 
65. Who among the following was not in the list of the people who wrote explanatory work 

for Thirukural? 
a. Nachar  b. Parithi  c. Thamar  d. Mallar 
gpd;tUgth;fSs; jpUf;FwSf;F ciu vOjpa gjpd;kUs; ,y;yhjth; ahh;? 
a. er;rh;  b. ghpjp  c. jkh;   d. ky;yh; 
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66. According to IMF report 2016, India is _______ largest economy of the world 
a. 5th   b. 6th   c. 7th   d. 8th 
gd;dhl;L gzepjp 2016 mwpf;ifapd; gb ,e;jpah cyfstpy; _________ nghpa 
nghUshjhukhFk; 
a. 5tJ  b. 6tJ  c. 7tJ  d. 8tJ 

 
67. Consider the following statements 

I. India emerged as world’s fastest growing economy in 2016-17 
II. Growth rate is 7.1% in GDP next to USA  
a. I alone is correct  b. II alone is correct 
c. Both are correct  d. Both are wrong 
fPo;f;fhZk; thf;fpaq;fis ftdpf;f 
I. ,e;jpahthdJ 2016-17 Mz;bd;gb cyfstpy; kpfTk; Ntfkhf tsUk; 

nghUshjhukhf ,Uf;fpd;wJ. 
II. ,e;jpahtpd; nkhj;j cs;ehl;L cw;gj;jpapd; tsh;r;rp tPjk; 7.1 rjtPj vd;w 

mstpy; mnkhpf;f If;fpa ehlfSf;F mLj;j ,lj;jpy; ,Uf;fpd;wJ. 
a. I kl;Lk; rhp  b. II kl;Lk; rhp 
c. ,uz;Lk; rhp  d. ,uz;Lk; jtW 

 
68. Consider the following statements  

I. Service Sector contributes in lion’s share of GDP in India 
II. Agriculture sector provides livelihood for 60% of people in India 
a. I alone is correct   b. II alone is correct 
c. Both are correct   d. Both are wrong 
fPo;f;fhZk; thf;fpaq;fis ftdpf;f 
I. Nritj;JiwahdJ ,e;jpahtpd; nkhj;j cs;ehl;L cw;gj;jpapy; mjpf gq;fspg;G 

mspf;fpd;wJ 
II. Ntshz;ik Jiw ,e;jpahtpd; 60 rjtPj kf;fSf;F tho;thjhuj;ij 

mspf;fpd;wJ 
a. I kl;Lk; rhp   b. II kl;Lk; rhp 
c. ,uz;Lk; rhp   d. ,uz;Lk; jtW 

 
69. Which of the following are features of mixed economy? 

I. Existence of Joint sector   
II. Planned economy 
III. Private property   
IV. Reduction of inequalities of Income and Wealth 
a. I, II  b. I, II, IV  c. II alone  d. all are correct 
fPo;f;fhZgtw;wpy; fyg;G nghUshjhu ,ay;Gfs; ahit? 
I. gy;NtW Jiwfs; ,ize;J nray;gLtJ 
II. jpl;lkplg;gl;l nghUshjhuk; 
III. jdpahh; nrhj;Jilik 
IV. tUkhdk; kw;Wk; nrhj;jpy; fhzg;gLk; rkj;Jtkpd;ik Fiwg;gJ 
a. I, II  b. I, II, IV  c. II kl;Lk;  d. Nkw;$wpa midj;Jk; 

 
70. India’s Five-Year Planning was based on _______ 

a. USA  b. USSR  c. China  d. UK 
,e;jpahtpd; Ie;jhz;L jpl;lk; vjid mbg;gilahf nfhz;lJ? 
a. mnkhpf;fh  b. u~;ah  c. rPdh  d. gphpl;ld; 
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71. “Planned Economy in India” was authored by _____ 
a. Jawaharlal Nehru (1935)  b. Subash Chandra Bose (1938) 
c. M. Visvesvaraya (1934)  d. M.N. Roy (1945) 
‘,e;jpahtpw;fhd jpl;lkplg;gl;l nghUshjhuk;’ vd;w Gj;jfj;jpid vOjpath; ________ 
a. [t`h;yhy; Neu (1935)  b. Rgh~; re;jpu Ngh]; (1938) 
c. vk;. tp~;tNua;ah (1934)  d. vk;.vd;.uha; (1945) 

 
72. Which of the following are the objective of planning? 

I. Reducing inequalities 
II. To raise national income 
III. To expand employment opportunities 
IV. To remove bottleneck in agriculture 
a. I, II  b. I, II, III  c. II, III, IV  d. All of these 
fPo;f;fhZgtw;wpy; jpl;lq;fspd; Nehf;fq;fs; vit? 
I. rkj;Jtkpd;ikia Fiwg;gJ 
II. Njrpa tUkhdj;ij cah;j;JtJ 
III. Ntiytha;g;gpid mjpfhpj;jy; 
IV. Ntshz;ikapd; ,lh;gLfis mfw;Wjy; 
a. I, II  b. I, II, III  c. II, III, IV  d. ,itaidj;Jk; 

 
73. Choose the incorrect pair 

a. First Five-Year Plan   – Harrod, Domar 
b. Second Five-Year Plan   – P.C. Mahalanobis 
c. 4th Five Year Plan   – Manne, Rudra 
d. 6th Five Year Plan   – D.D. Dhar 
nghUj;jkw;w ,izapid Rl;bfhl;Lf 
a. Kjy; Ie;jhz;L jpl;lk;  - `uhL kw;Wk; Nlhkh; 
b. ,uz;lhk; Ie;jhz;L jpl;lk; - gp.rp. k`yNehgp]; 
c. ehd;fhtJ Ie;jhz;L jpl;lk; - Nkdp kw;Wk; &j;uh 
d. MwhtJ Ie;jhz;L jpl;lk; - b.b. jhd; 

 

74. Planning Commission was dissolved on __________ 
a. January 1, 2015  b. August 15, 2014 
c. August 17, 2017  d. January 1, 2016 
jpl;lf;FO fiyf;fg;gl;l ehs; ________  
a. [dthp 1> 2015  b. Mf];l; 15> 2014 
c. Mf];l; 17> 2014  d. [dthp 1> 2016 

 

75. Choose the correct pair 
I. Bombay Plan  - Eight Industrialists 
II. People Plan  - M.N. Roy 
III. Gandhian Plan  - Sriman Narayan 
IV. Survodaya Plan  - J.P. Narayan 
a. I, II, IV  b. II, IV  c. II, III, IV  d. All of these 
rhpahd ,izapd; Njh;e;njLf 
I. ghk;Ng jpl;lk;   - vl;L njhopyjpgh;fs; 
II. kf;fs; jpl;lk;  - vk;.vd;. uha; 
III. fhe;jpad; jpl;lk;  - =kd; ehuhazd; 
IV. rh;Nthja jpl;lk;  - N[.gp. ehuhazd; 
a. I, II, IV  b. II, IV  c. II, III, IV  d. ,itaidj;Jk; 
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76. A person gets Rs. 50,000 (Fifty thousand) as loan with interest rate 4% p.a. from a bank. 
If the interest is calculated year wise, then the compound interest, after two years, is 
xUth; Mz;L tl;b 4% vd &. 50>000 (Ik;gjhapuk;) tq;fpapypUe;J fldhf ngWfpwhh;. 
Mz;Lf;nfhU Kiw tl;b fzf;fpl;lhy;> ,uz;L Mz;Lfs; fopj;J mth; fl;l Ntz;ba 
$l;L tl;bahdJ  
a. Rs.4,000   b. Rs.2,000  c. Rs.2,080     d. Rs.4,080 

 
77. The compound interest on Rs. 30,000 at 7% per annum is Rs. 4, 347. The period (in 

Years) is  

a. 2 years  b. 2 
1

2
 years  c. 3 years  d. 4 years 

&. 30>000 vd;w njhiff;F> Mz;bw;F 7% $l;L tl;b tpfpjj;jpy; vj;jid Mz;Lfspy; 
$l;L tl;b &4>347 MFk;? 
a. 2 Mz;Lfs; b. 2 ½ Mz;Lfs; c. 3 Mz;Lfs; d. 4 Mz;Lfs; 

 
78. In a compound interest, the sum ì 20, 000 will turned the amount  

ì 26, 620 at 10% rate of interest per annum then the number of years is 

a. 2 years      b. 3 years    c. 4 years      d. 5 years  

$l;L tl;bapy; &. 20>000 w;F 10% Mz;L tl;bf;F $Ljy; &. 26>620 fpilf;f vj;jid 
Mz;Lfs; Njit? 

a. 2 Mz;Lfs; b. 3 Mz;Lfs; c. 4 Mz;Lfs; d. 5 Mz;Lfs; 

 

79. Find the difference between simple interest and compound interest on Rs. 2,400 at 2 
years-at 5% per annum compounded annually. 
a. Rs.5         b. Rs.6   c. Rs.8         d. Rs.7 
&.2>400f;F 5% Mz;L tl;b tPjk; 2 Mz;Lfspy; fpilf;Fk; $l;L tl;bf;Fk; 
jdptl;bf;Fk; cs;s tpj;jpahrk; fhz;f. 
a. Rs.5         b. Rs.6   c. Rs.8         d. Rs.7 

 

80. The difference between compound interest and simple interest on a sum for 2 years at 8 
percent is ì  768. The sum is 
a. ì  1,00,000  b. ì l, 10,000  c. ì 1,20,000               d. ì 1,70,000                                         
,uz;L tUlq;fSf;F 8% tl;b tpfpjj;jpy; jdp kw;Wk; $l;L tl;bf;Fk; cs;s NtWghL 
ì 768 vdpy; njhifahdJ 
a. ì  1,00,000  b. ì l, 10,000  c. ì 1,20,000               d. ì 1,70,000                                         

 
81. The difference between the compound interest and simple interest accrued on an 

amount of ì 18,000 in two years is ì 45. Then the rate of interest per annum is  
a. 12%   b. 5%   c. 18%  d. 10% 
,U tUlq;fspy; ì 18,000 kPjhd $l;L tl;b> jdptl;b Mfpatw;wpd; tpj;jpahrk; ì 45 
vdpy; tUltl;b tPjk;  
a. 12%   b. 5%   c. 18%  d. 10% 

 
82. The sum of money placed at compound interest doubles itself in 4 years. In how many 

years will it amount to 4 times itself? 
a.  12 years               b. 13 years  c. 8 years                 d. 16 years     
xU njhif 4 tUlj;jpy; $l;L tl;bapy; ,uz;L klq;F MfpwJ. mJNt 4 klq;fhf 
vt;tsT Mz;L MFk;?  
a. 12 Mz;Lfs; b. 13 Mz;Lfs; c. 8 Mz;Lfs;  d. 16 Mz;Lfs; 
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83. Find the compound interest on Rs. 15,625 for 9 months, at 16% per annum compounded 
quarterly.  
a. Rs. 1,990  b. Rs. 1,968  c. Rs. 1,937  d. Rs. 1,951 
&.15>625 I 9 khjq;fSf;F 16% Mz;L tl;b tPjj;jpy; KjyPL nra;jhy;> tl;b 
fhyhz;Lf;F xU Kiw Nrh;f;fg;gl;lhy;> $l;L tl;biaf; fhz;f.  
a. Rs. 1,990  b. Rs. 1,968  c. Rs. 1,937  d. Rs. 1,951 

 
84. The principle that will yield a compound interest of Rs. 1632 in 2 years at 4% rate of 

interest per annum is Rs. 
a. 20,000  b. 25,000  c. 30,000   d.  35,000 
4% Mz;L tl;b tPjg;gb 2 Mz;Lfspy; ì 1632 $l;L tl;b jUk;  mry; ì ________ 
Mf ,Uf;Fk;.  
a. 20,000  b. 25,000  c. 30,000   d.  35,000 

 
85. At what rate percent of compound interest per annum will Rs. 640 amount to Rs. 774.40 

in 2 years, when interest is being compounded annually? 
a. 11.5%  b. 12 %  c. 8%   d. 10% 
&.640 mryhdJ 2 Mz;Lfspy; ve;j $l;L tl;b tpfpjj;jpy; &. 774.40 Mf khWk; 
$l;Ltl;b MdJ tUlj;jpw;F xU Kiw fzf;fplg;gLfpwJ. 
a. 11.5%  b. 12 %  c. 8%   d. 10% 

 
86. At the rate of compound interest, a sum of money triples in two years. Then in how 

many years it will become 27 times? 
a. 4 years   b. 6 years   c. 8 years   d. 9 years 
$l;L tl;b ngUk; xU njhif ,uz;L tUlj;jpy; %d;W klq;fhfpwJ. vdpy; mJ 
vj;jid tUlj;jpy; 27 klq;fhFk;?  
a. 4 Mz;Lfs; b. 6 Mz;Lfs; c. 8 Mz;Lfs; d. 9 Mz;Lfs; 

 
87. Calculate the compound interest on Rs. 9,000 in 2 years when the rate of interest for 

successive years are 10% and 12% respectively. 
a. Rs.1,188  b. Rs.2,088  c. Rs.4,396  d. Rs.2,596 
xU njhiff;F mLj;jLj;j Mz;LfSf;F KiwNa 10% kw;Wk; 12% tl;b tPjj;jpy; &. 
9,000 f;F 2 Mz;LfSf;F njhlh; tl;b vt;tsT?  
a. Rs.1,188  b. Rs.2,088  c. Rs.4,396  d. Rs.2,596 

 
88. The different between Simple Interest and Compound Interest on certain sum of money 

for 3 years at 10% per annum is Rs.31. The sum is. 
a. Rs.1,000  b. Rs.2,500  c. Rs.10,625  d. Rs.3,625 
3 Mz;LfSf;F 10% tl;b tpfpjj;jpy; jdptl;b> $l;L tl;b ,itfspd; tpj;jpahrk; &. 
31 vdpy;> mry; vt;tsT? 
a. Rs.1,000  b. Rs.2,500  c. Rs.10,625  d. Rs.3,625 

 
89. What will be the difference between simple and compound interest at 10% per annum 

on a sum of Rs. 1,000 after 4 years? 
a. Rs. 32.10   b. Rs. 64.10  c. Rs. 65.20   d. Rs. 66.45 
&.1>000 mryhdJ tUlj;jpw;F 10% tl;b tPjj;jpy; 4 tUlj;jpw;F gpwF fpilf;Fk; 
jdptl;bf;Fk;> $l;L tl;bf;Fk; cs;s NtWghL ahJ? 
a. Rs. 32.10   b. Rs. 64.10  c. Rs. 65.20   d. Rs. 66.45 
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90. Find the compound interest on Rs.  16,000 at   15% per annum for 2 years compounded 
annually. 
a. Rs.5110  b. Rs.5160  c. Rs.5106  d. Rs.5108   
& 16>000-f;F Mz;bw;F 15% tl;b tpfpjj;jpy; 2 Mz;Lf;fhd $l;L tl;bia fzf;fpLf. 
a. Rs.5110  b. Rs.5160  c. Rs.5106  d. Rs.5108   

 

91. Simple interest on a certain sum in 
16

25
of the sum. The rate percent, if the rate percent 

and time (in years) are equal, is 
a. 6%   b. 8%   c. 10%   c. 12% 

xU njhiff;fhd jdptl;bahdJ mj;njhifapd; 
16

25
klq;fhf cs;sJ.  NkYk; tl;b 

tPjkhdJ fhy mstpw;F rkkhf ,Ue;jhy; me;j tl;btPjk; vt;tsT? 
a. 6%   b. 8%   c. 10%   c. 12% 

 

92. The simple interest  on Rs.68,000 at 
2

16
3

% per annum for 9 months 

a. Rs.1, 200  b. Rs. 8,050  c. Rs. 8,500  d. Rs. 1,020 

Mz;Lf;F 
2

16
3

% tPjk; &. 68>000f;F 9 khjj;jpw;fhd jdp tl;bahdJ  

a. Rs.1, 200  b. Rs. 8,050  c. Rs. 8,500  d. Rs. 1,020 
 
93. A sum of money triples itself at 8% per annum over a certain time.  The time taken is 

a. 20 years   b. 22 years     c. 25 years     d. 30 years. 
xU Fwpg;gpl;l mryhdJ Mz;Lf;F 8% tl;b tPjj;jpy; %d;W klq;fhFtjw;F gpbf;Fk; 
fhyk;  
a. 20 Mz;Lfs; b. 22 Mz;Lfs; c. 25 Mz;Lfs; d. 30 Mz;Lfs; 

 
94. If simple interest for a sum of Rs 3100 for 4 years is Rs 40 more than the simple interest 

of Rs 2900 for the same duration at the same rate of interest then the rate of interest is 
a. 2%  b. 5%   c. 8%   d. 10% 
&. 3>100 f;F 4 tUlq;fSf;F Fwpg;gpl;l tl;b tpfpjj;jpy; tUk; jdptl;b &. 2>900 f;F 
mNj fhyj;jpw;F mNj tl;b tpfpjj;jpy; tUk; jdptl;bia tpl &. 40 mjpfkhf 
cs;sJ vdpy; tl;b tpfpjkhdJ 
a. 2%  b. 5%   c. 8%   d. 10% 

 
95. Mala invested Rs. 5,000 for two years at 11% per annum. Find the total amount received 

by her at the end of 2 years. 
a. Rs. 5,100  b. Rs. 6,200  c. Rs. 6,100  d. Rs. 5,200  
khyh Mz;bw;F 11% tl;b tPjj;jpy; & 5>000 I ,uz;L Mz;LfSf;F KjyPL 
nra;fpd;whh;. ,uz;lhk; Mz;bd; Kbtpy; mth; ngWk; nkhj;jj; njhifiaf; fhz;f.  
a. & 5>1000  b. &. 6>200  c. &. 6>1000  d. & 5>200 

 

96. A man invested 
1

3
 of his capital at 7%, 

1

4
 at 8 % and the remainder at 10 %. If  his 

annual income is Rs. 561, the capital is  
a. Rs. 5,400  b. Rs. 6,000  c. Rs. 6,600  d. Rs. 7,200 
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xU kdpjd; jdJ %yjdj;jpy; 
1

3
 gq;if 7% tl;b tPjj;jpYk; 

1

4
 gq;if 8 % tl;b 

tPjj;jpYk;> kPjKs;sij 10% tl;b tPjj;jpYk; KjyPL nra;fpwhh;.  mtuJ tUl 
tUkhdk; &. 561 vdpy; mtuJ %yjdk;  
a. &. 5,400  b. &.6,000  c. &.6,600  d. &.7,200 

 
97. Sathish  deposits ì 500 at the beginning of every month for 5 years in a post office. If the 

rate of interest is 7.5%. Find the amount he will receive at the end of 5 years.  
a. ì 35718.75  b. ì 37518.75  c. ì 37581.75  d. ì 35817.75 
rjP~; vd;gth; ì 500 I xt;nthU khjj; njhlf;fj;jpYk; Xh; mQ;ryfj;jpy; 5 
Mz;LfSf;Fr; nrYj;Jfpwhh;. tl;b tPjk; 7.5% vdpy; 5 Mz;Lfs; Kbtpy; mth; ngWk; 
njhif vt;tsT?  
a. ì 35718.75  b. ì 37518.75  c. ì 37581.75  d. ì 35817.75  

 

98. The simple interest on a sum of money is 
9

16
 of the principal. Find the rate percent and 

time if both are numerically equal. 

a. 8 
1

2
 %, 8 

1

2
 yrs  b. 7% , 7yrs  c. 7 

1

2
 %, 7 

1

2
 yrs  d. 8% 8 yrs 

xU Fwpg;gpl;l njhifapd; jdptl;bahdJ mrypd; 
9

16  
klq;Ff;F rkk;> 

tl;btPjKk;> tUlKk; vz; kjpg;gpy; rkkhf ,Uf;Fk;NghJ tl;b  
tPjj;ijAk; tUlj;ijAk; fhz;. 

a. 8 
1

2
 %, 8 

1

2
 tUlq;fs;   b. 7% , 7 tUlq;fs;   

c. 7 
1

2
 %, 7 

1

2
 tUlq;fs;   d. 8% 8 tUlq;fs;  

 
99. Calculate the compound interest on Rs.10,000 in 2 years when the rate of  interest for 

successive years are 10% and 20% respectively 
a. Rs.2,800  b. 3,200  c. 2,880  d. 3,000 
xU njhiff;F mLj;jLj;j Mz;LfSf;F KiwNa 10% kw;Wk; 20% tl;b tPjj;jpy; 
10,000 f;F 2 Mz;LfSf;F njhlh; tl;b vt;tsT?  
a. Rs.2,800  b. 3,200  c. 2,880  d. 3,000 

 
100. A certain sum of money in simple interest scheme amounts to Rs.8,880 in 6 years and 

Rs.7,920 in 4 years respectively. Find the principal and rate percent 
a. Principal = 6,000, rate = 8%  b. Principal = 6,600, rate = 8% 
c. Principal = 6,000, rate = 7%  d. Principal = 6,600, rate = 7% 
xU Fwpg;gpl;l mryhdJ jdp tl;b tPjj;jpy; 6 Mz;Lfspy; 8,880 MfTk; 4 Mz;Lfspy; 
7,920 MfTk; khWfpwJ vdpy; mry; kw;Wk; tl;b tPjj;ijf; fhz;f.  
a. mry; = 6,000 tl;b tPjk; = 8% b. mry; = 6,600 tl;b tPjk; = 8% 
c. mry; = 6,600 tl;b tPjk; = 7%  d. mry; = 6,000 tl;b tPjk; = 7% 

 

 


